SATPREP
Assignment : Algebraic Equation

Easy

1. If 3x + 2 = 5, what is the value of 3x - 67 @
a) -1
b) -2
c) -3
d) 1

2. If a® - 1 = b?, and 2a = 6, which of the following could be
the value of b? ®
a) -1
b) 0
o 1
d) 2

3. If x x y = x for all values of x, what is the value of y?
a) -x
b) -1
c) 0
d) 1



4. If =3x + 8 = =2x — 7, what is the value of x?
a) 15
b) 3
c) -3
d) -15

5. 1f3x-2=7,then 2x + 5=?
a) 10
b) 11
c) 12
d) 14
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7. If m2+8=239, then m?2 -7 =?
a) 31
b) 29
c) 26
d) 24

8. If 3(x + 5) = 18, then what is the value of x?
a) 1
b) 3
c) 6
d) 9

9. IfZ :czy = 0, what is the value of x?
a) -2y
b) 0
) 2y
d) y?

10. If 0.3x + 2 = 5.6, what is the value of x?
a) 3.6
b) 1.2
c) 36
d) 12
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17.

1f9x + 3 =21, then5x + 10 =?
a) 20
b) 30
c) 32
d) 34

If 8 x 27 x 64 = 13, what is the value of x?
a) 6
b) 12
c) 18
d) 24

If 2—1% = 6 x 5, what is the value of x2?
a) 60
b) 90
c) 120
d) 180

If x, y, and z are positive numbers and xyz = x2, which of
the following must equal x?

a) yz

b) xy

c) xz

d) 1

If3x—x=x-5thenx="7?
a) 10
b) 5
g) =1
d) —5

If (0.0010) x y =10, then y = ?
a) 0.01
b) 0.001
c) 100
d) 10000

If§-+x =5 %, then x can be equal to which of the
following?

a) 1

b) 2

o T
d) 5
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19.

20.

21.

24,

If 3%+ 6= 27+, then =2
a) —6
b) -3
c) 6
d) 3

VX+y _ —
If\[i+5— 1,theny—?®

a)
b)
c)
d)

If 3(x + 6) = 21, what is the value of x? ®
a) 1
b) 3
c) 5
d) 7
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Ifﬁ =6 and E = 3, then what does z equal when y = 2?
a) 2
b) 4
c) 6
d) 8

If 2v/3x% + 7 = 19, what is the value of x?
a) 2
b) 3
c) 243
d) 3v2

N [ A f, then what does y equal to?
y-3 2

a) 4
b) 8
c) -8
d) 12

If -a* + b2 = —a* + 4, then b could equal to?
a) -4
b) -2
c 1
d) 3



25,

26.

27.

28.

29.

30.

2x + 4 4 %
If :+ =i then what is the value of x?

a) -12
b) -4
cy -2
d) 2

If 3(x + y)(x - y) =30 and x - y = 5, what is the value of x
+ y?
a) 1
b) 2
c) 3
d) -1
If 3(x - 3) = 9, what is the value of x?
a) -6
b) -10
c) 6
d) 10

If % = izi and z # 0, what is the value of z?
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If 3x2 = 2y = 12, what is the value of x%y?

If = = Ethen x?
x=2 41
a) 39
b) 43
c) —41
d) -39



31. If 3,500 =100(3x + 5), then x =
1
a) T
b) 1
c) 10
d) 100

32. 1f 7,373 = 73(x + 1), then x =?
a) 10
b) 11
c) 100
d) 101

33. If 2x - 36 = 16, then x - 18 =?
a) 1
b) 3
c) 5
d) 8

34. If 3x + 2 =13, then 6x — 27
a) 20
b) 24
c) 26
d) 28

Medium

35. If xy=4,z -y =3, and 2z = 10, what is the value of x + y
+z?

36. A litter of milk can fill up 3 large cups or 5 small cups. If
there are 12 large cups and 10 small cups, about how
many litters of milk will be needed to fill up all the
cups?

a) 3
b) 4
c) 5
d) 6
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38.

39.

40.

41.

42,

If x3 + 2y = 0, which of the following must be true?
a) =2y
b) xy =y

If 2a + 3b = 2b, which of the following must equal 6a +
3b?

a) 0

b) 1

c) b

d) 3b

Ifiti = 4 and y # 0, what is the value ofi?

6 \
== 2, what is the value of x?

a) -5
b) -3
¢ 5
d) 3

If

If% = g, what is the value of g in fraction?

If |3r-5| =10and |r+ 2| =7, then what is the value
of r?

a) 5

b) 3

c) -3

d) -5



43. If kis a constant and 2x + 7 = 4kx + 7 for all values of z,
what is the value of k?
a) 2
b)
<)
d)

Win Or ik

2x - 1 ; x
44, 5 Y = S what is the value of . ?

[x-1]=2
|y + 2|59
45. In the equations above, given that x <0 and y > 0, what
is the value of x — y?

a) 1
b) 2
c) 0
d) -2
Hard
Vvx+2=x-1
46. For all values of x greater than 1, the egation above is
equivalent to which of the following?
a) x=x2
b) x=x2-1

g F=p-2x—1
d) x=x2-2x+1

47. %(6x3 =322 + 3x + 9) = ax3 + bx? + ¢cx + d, for all values of
x, where g, b, ¢, and d are all constants, what is the value
ofa+b+c+d?



= 4 , what is the value of x? @

12
48. Ifx>1andm

49. A parallel circuit has two or more paths for current to
flow through and has more than one resistor as shown
below. In a house, there are many electrical appliances
that connect in parallel so they would not affect each
other when their switches are turned on or off.

pis R1 Rz R3

The total resistance, Ryyeq, in a parallel circuit can be
calculated by the following formula:
1

1 1 1

Rrotat R1 Rz  Ra

If three resistors are connected together in parallel and
the resistors have values of 20 ohm, 30 ohm, and 60 chm
respectively, what is the total resistance of the circuit?

a) 15 ohm

b) 10 ohm

c¢) 8 ohm

d) 5ohm





